< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
)

o
N

.........

..........

..........

......

......

ca-

0 1

2
TP n (PCA to beamline)

3

o
[N

< o cot(y) >
o
=
a1

o
N

............................

............................

20 i it ECEEEEE

...............

=3 -2 -1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

100r

A o ©
o O O
[TTTTTee

20+

.....

.....

.....

8= -1 0 1

2

3

TP n (PCA to beamline)

- -

. -

. -

|
Q[T

0 1

2

3

TP n (PCA- to beamline)

= 100

M
[ e
AT P 1 Y P O P
S S
0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


